ENGLISH Inter (Part-1i) 2018| PAPER: I
(Compulsory) Group-|
Time: 30 Minutes (OBJECTIVE TYPE) Marks: 20
.Note: Four possible answers A, B, C and D to each question
are given. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles
will result in zero mark in that question.
Choose the correct option of the following

underlined words from Book-ll (Modern Prose

and Heroes) Part-l: (3) .
1-1- A star seldom finds another star near it.
(a) Often . (b) Always ’
(c) Sometimes ¥ (d) Never
2~ The anticipation was always worse than reality.
(a) Expectation v (b) Removal
(c) Departure (d) Arrival
- 3- The manager thought that | was a detective.
(a)  Officer (b) Watchman
(c) Spy v (d) Policeman
Choose the correct option of the foliowing
underlined words from Book-ll {Modern Prose
and Heroes) Part-ll: . (3)
4- After much reflection, | put a bracket round it.
(a) Effort (b) Time
(c) Delight (d) Thought v
5- Penicillin was hailed as 2 wonder drug.
(a) Cheered v  (b) Rejected
- (c) Given up (d) Sold .
6- The Padishah himself was eager to collaborate with
the Allies. ; .
(a) Fight (b) Oppose :
(c) Resist - (d) Cooperate v
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Choose the correct optuon of the following
underlined words from the novel Goodbye Mr.

Chips: (4)
7- Chips’ voice had a good deal of sprightliness in it.
(a) Liveliness v (b) Laziness
(c) Slowness: (d) Weakness
8- Chips became less rigid.
(a) Soft (b) Stupid
(c) Stern vV (d) Active
9- Ralston claimed to have doubled the school
: endowment.
(a) Rooms (b) Donation v
(c) Teachers (d) Students
10- There was plenty of shrapnel falling about outside.
(a) Bomb v (b) Trees
(c) Stones (d) Leaves
Choose the correct optlon of appropriate
prepositions: (5)
11- He was absorbed --- studies. ' ‘
(a) on e J(h) in ¥
2w (c) 10 s (d) with
12-  Anwar was quite deaf --- my advice.
) (a) to v (b) for
(c) in Zety (d) with
13- | hanker --- friendship.
(a) by (b) in
(c) on e (d) fory
14- Don’t meddle --- my matters.
(a) upon (b) in v
77 (c) into (d) by
- 15-  He has no taste --- music.
(@) foryY - (b) upon
(c) in~ (d) b
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Four options A, B, C and D are given at the end
of every sentence. Only one of them is correct.
Choose the correct option: (5)
16-  Ten deers are sitting in the forest.
(a) Ten deer are sitting in the forest. v
(b) Ten deer is sitting in the forest.
(c) Ten deers are sitting on the forest.
(d) Ten deers is sitting ‘n the forest.
17-  Itis | who is to be blamed.
(a) Itwas | who is to be blamed. :
(b) Itis | who am to be blamed. v
(c) Itam | who is to be blamed.
(d) Itis | who are to be blamed.
18-  He said that he loved with Azra.
(a) He said that he loves with Azra.

(b) He said that he loved Azra. v

(c) He said that he love Azra.

(d) He said that he loves Azra.
19-  Work hard lest you should not fail.

(a) Work hard lest you will fail.

(b) Work hard lest you can fail.

(c) Work hard lest you should fail. v/

(d) Work hard lest you must fail.
20- Heis M.A. in English.

(a) Heis a M.A. in English.

(b) Heis an M.A. in the English.

(c) Heis an M.A. in English. v

(d) He is the M.A. in English.
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